
1 x 1 =  1

1 x 2 =  2

1 x 3 =  3

1 x 4 =  4

1 x 5 = 5

1 x 6 = 6

1 x 7 = 7

1 x 8 = 8

1 x 9 = 9

1 x 10 = 10

1 x 11 = 11

1 x 12 = 12

1 TIMES TABLE



2 x 1 = 2

2 x 2 = 4

2 x 3 =  6

2 x 4 = 8

2 x 5 = 10

2 x 6 = 12

2 x 7 = 14

2 x 8 = 16

2 x 9 = 18

2 x 10 = 20

2 x 11 = 22

2 x 12 = 24

2 TIMES TABLE



3 x 1 = 3

3 x 2 = 6

3 x 3 =  9

3 x 4 = 12

3 x 5 = 15

3 x 6 = 18

3 x 7 = 21

3 x 8 = 24

3 x 9 = 27

3 x 10 = 30

3 x 11 = 33

3 x 12 = 36

3 TIMES TABLE



4 x 1 = 4

4 x 2 = 8

4 x 3 =  12

4 x 4 = 16

4 x 5 = 20

4 x 6 = 24

4 x 7 = 28

4 x 8 = 32

4 x 9 = 36

4 x 10 = 40

4 x 11 = 44

4 x 12 = 48

4 TIMES TABLE



5 x 1 = 5

5 x 2 = 10

5 x 3 =  15

5 x 4 = 20

5 x 5 = 25

5 x 6 = 30

5 x 7 = 35

5 x 8 = 40

5 x 9 = 45

5 x 10 = 50

5 x 11 = 55

5 x 12 = 60

5 TIMES TABLE



6 x 1 = 6

6 x 2 = 12

6 x 3 =  18

6 x 4 = 24

6 x 5 = 30

6 x 6 = 36

6 x 7 = 42

6 x 8 = 48

6 x 9 = 54

6 x 10 = 60

6 x 11 = 66

6 x 12 = 72

6 TIMES TABLE



7 x 1 = 7

7 x 2 = 14

7 x 3 =  21

7 x 4 = 28

7 x 5 = 35

7 x 6 = 42

7 x 7 = 49

7 x 8 = 56

7 x 9 = 63

7 x 10 = 70

7 x 11 = 77

7 x 12 = 84

7 TIMES TABLE



8 x 1 = 8

8 x 2 = 16

8 x 3 =  24

8 x 4 = 32

8 x 5 = 40

8 x 6 = 48

8 x 7 = 56

8 x 8 = 64

8 x 9 = 72

8 x 10 = 80

8 x 11 = 88

8 x 12 = 96

8 TIMES TABLE



9 x 1 = 9

9 x 2 = 18

9 x 3 =  27

9 x 4 = 36

9 x 5 = 45

9 x 6 = 54

9 x 7 = 63

9 x 8 = 72

9 x 9 = 81

9 x 10 = 90

9 x 11 = 99

9 x 12 = 108

9 TIMES TABLE



10 x 1 = 10

10 x 2 = 20

10 x 3 = 30

10 x 4 = 40

10 x 5 = 50

10 x 6 = 60

10 x 7 = 70

10 x 8 = 80

10 x 9 = 90

10 x 10 = 100

10 x 11 = 110

10 x 12 = 120

10 TIMES TABLE



Solve these multiplication word problems

Nancy swims 5 laps every day. How many laps will she swim in
two days?

1.

a: 15 b: 10 c: 5 

Each person has 4 apples. If there are 4 people, how many apples
are there in total?

2.

a: 16 b: 20 c: 8 

Esther has 6 chocolates. Emily has 3 times what she has.
How many chocolates does Emily have?

3.

a: 17 b: 18 c: 19

Beth’s garden has 5 rows of pumpkins. Each row has 3 pumpkins.
How many pumpkins does Beth have in all?

4.

a: 30 b: 20 c: 15

If George does 10 minutes of homework every day, how many hours
of homework will he have completed in 2 days?

5.

a: 12 b: 20 c: 6



Solve these multiplication word problems -
Answers

Nancy swims 5 laps every day. How many laps will she swim in
two days?

1.

Answer: 10 

Each person has 4 apples. If there are 4 people, how many apples
are there in total?

2.

Answer: 16 

Esther has 6 chocolates. Emily has 3 times what she has.
How many chocolates does Emily have?

3.

Answer: 18 

Beth’s garden has 5 rows of pumpkins. Each row has 3 pumpkins.
How many pumpkins does Beth have in all?

4.

Answer: 15 

If George does 10 minutes of homework every day, how many hours
of homework will he have completed in 2 days?

5.

Answer: 20 


